Calculator crossnumber

Use your calculator to answer these questions

Across

1 26X34—19= .ioiiiiiiiieeeeeeeeiinnnnn.
4 (BXA) = i,
6 417X (29487) = eeeeeeeeiiiiinnnnn
7 (L45)X6L= cerrrieeeeeeeeiiriieeennnn.
9 1310X 04 = cerrrrrieeeeeeeeiiiiennnn
1M e
13 e
L T
15 83 = oot
16 V207936 = eeevniiieiieeieeiieeinn
18 706 X3 = cooviiiiii s
20 417 X294 87% cevrrieeeeeeiiiiinnnn
22 124255
23 48 30.8= ittt

Now write your answers on the grid below.

Down
1 A58 45X 77 = eeeeeeeeeeeeeeeeeeannnnns
y S R 1 TS
3 365X 20 T e
4 53 o
B 2B e = e
19
8 506280 wuueeerieeeeeeeeeeerienns
10 3.96 = 1.6 = eeeeeeeeeeeeeeeeeeeeieneanains
11 / e e
4
12 3242 e,
2 10
16 112 X A= ooeeeeeeeee e
17 B e,
618—-616
18 145X 615 eereneeeeeeeeeeeeeeeieeaennnn,
19 26X (34 —19)= weveeeeeeeeeeeeeannn
21 X162 eeeeeeee e
8

If an answer doesn’t fit then you’ve made a mistake... Oops! Can you correct it?
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Calculator crossnumber

Answers

Across

1 26x34—19 =865

4 (3x4)?=144

6 417 x (29 + 87) = 48372
7  (1+5)x61=366

9 1310 x 0.4 = 524

11x12x13
1M1 —
1x2x3
274+58

13 ”

14 3x4%2=48

=286
=83

15 83 =512

16 /207936 = 456

18 706><%=353

20 417 x 29 +87= 12180
9 4

22 1>+2:=47

23 48+08=6(.0)

Down

o] (] E-N w N

11

12
16
17
18
19
21

458 + 5 x 77 = 843
42 x 13 =546
3.65 x 20 =73
53 =125
26 + — = 494
19

506 = 80 = 6.325
3.96 + 1.6 = 2.475

62=2.5

4

1 7

3-425=6.2

112 x 4= 484

618+616
618—-616

1+5x%x61=2306

=617

26 x (34 — 19) = 390

>x16=10
8
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